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1) Provide the structure of product B as well as other missing intermediates in the following
sequence of the reaction. 4 PTS
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heated, a compound with the molecular

2) When compound 1 is treated with aqueous acid and
f this compound? Provide a mechanism.

formula of CsH1203 is formed. What is the structure o
2 PTS

0 0
" gl H*, H,0
(o) R ——
& ; heat
D
Answer: ®
) ~y—H )
0 “ /\v & l(: o oM L oH
T ket L W g d A CN
O ~ sl —> E ~ { 9
) e m\/\\,k 4
\[, . ‘/\, 0" MO
& o®
Hd T
Ho ¥ \) _H(ﬁ
\V4
e A O
aN W o O
Sf \/l}/\jl L i OQ\ l '
Q\\e\ K 7" | B
“ = Oy



! CHEM 8410_6410_4410 — Organic Synthesis

THE UNIVERSITY OF

TOLEDO

1872

3) Provide the reagents required for the synthesis of 2 and 3. Furthermore, provide the transition
state(s), if any, for the reactions that will explain the stereochemical outcome. Is attack from
the Re- or Si-face — note for both cases? 4 PTS

. &, /ﬁ( L
% H15C7 d})/-)l“, /?- H45C7 /.iPr
@/ BnO)—<O§ I Bno)_2<0H
O Et ? EtLL\/\)j\
A }——< — S %
E Slz&w 4 ﬁ€ AL( I
Answer:
B oy - >¥ o Y
i_;;q attack
B O PO

N y =

4 U
/ [ |
g = M\ oL WC "
@’@W Rl o~
W ™
VU bMC /{
\O‘;b—({\— MY by 2 -
0 [, = 3
fn 0 g \E{: 'L{ 7 i



	Image (74)
	Image (75)
	Image (76)

